Review Question for Chapter 2 Solutions

(@) AS9.FCE=1010 0101 100] * L1} 1100 1110

87 0

(b)  16)1400 < 16) < 16)5
1392 0

8 7 5

16x16 =2.56 = .56x16 = 8.96 = .96x16 = F.36 = .36x16 = 5.76......
= (578.28F5....),

(c) 101011100.00011 1

= (534.07),
83
@ 2)166 <—2} - 2T ezfezfezfezfezf
166 82 4
0 1 0 0 0 1 0 1
=(10100110),
Decimal Sign Mag.
127 01111111
0 10000000
-55 10110111
Decimal 1’s Comp.
43 0000101011
-1 1111111110
-128 1101111111

(a) 01111001 (positive number) — 121

(b)
TTTTTT2's ) —>11111110(1"s ) —mplement_ 50000001 (magnitude ) — —1



(c)  10000(2's)—=—=01111(1's)—<2mplement . 1000(magnitude) — 16
(d)
10000001(2's)—=-10000000(1's) —<2mplement . 41111111(mag.) — —127

(a) 27 + 38 00011011
+00100110

01000001 ——>65
(b) 55+ 75 00110111
+01001011

10000010 ————-126
(reflect an overflow situation i.e. the correct
result cannot be represented with the available
number of bits.)

(00100)sp = (00100),:5 [the number is positive]
(10100)2°s + (00100)sm = (10100)2°5 + (00100) 2-= (11000)°5
Convert to integers and verify your result!



